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ELI RECALL  THE  WINDORYTEXTBOOK  PROBLEM
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THE situation WAS MODELED By - t2+2t  +36
.
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WINDOW WE WANTED TO CHECK  IF ALICIA 's  CLAIM THAT THE VELOCITY AT t=4 is

Gobo
- 4ft/5EC WAS  True
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-4  DERIVATIVE  IS -2tt2_

TO  FIND  DERIVATIVE @ t=4
,

WE  EVALUATE -2++2 AT t=4
.
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Is THERE Any TIME t  WHEN THE VEWUTY Is OFYSEC?

INTERPRET WHAT THIS MEANS . .
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ON FRIDAY WE HAD  SOME PROBLEMS WITH  TANGENT LINES . .

EI .

FIND  THE  LINE TANGENT TO  - XZTZX -136 AT  Xt4 .

WAIT :  LINE  WITH  SLOPE -6 PASSING  THROUGH (4,46+8+36)
"

( 4,28 )
UND  THE

EQUATION  OF

gwen
THIS  LINE .

Y =  MX  + b  we

y=
- bxtb

To SOLVE FOR b
,

WE CAN  PLUG IN ( 4,28 )
.

( CHECK  THAT you GET y=-6Xt52_ . )

EX . FIND  THE LINE  TANGENT  TO VI AT  21=3.5
.


